
Q1) Attempt any 10 out of 12 from the following. [10]

a) Who is the author of 'Engine trouble'?

b) What is the limitation of the law when it comes to bad behaviour?

c) Why was Della crying in the lesson 'The Gift of the Magi'?

d) What, according to Gardiner, has the potential to poison a whole day?

e) What does Robert Burns compare his love to?

f) Where can be God found, according to Tagore?

g) What did the speaker's grandmother have to say about trees?

h) New York is _________ large city.

(Use appropriate Article)

i) Are you attending _________ reception today?

(Use appropriate article)

j) She wants to become _________ Engineer.

(Use appropriate article)

k) He smiled _______ Anju.

(Use appropriate preposition)

l) Mina is fond ___________ reading.

(Use appropriate preposition)
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Q2) Attempt any 5 out of 7 from the following. [25]

a) Explain the central idea of the poem 'Success Counted Sweetest'.

b) What is the traveler's opinion of the sculptor? What words in the poem
'Ozymandias' tell you this?

c) Elaborate the line 'The Child is Father of the Man' in your words.

d) How does the narrator describe the way the girl talks in 'The Eyes are
not Here'?

e) What is the difference between regular and irregular verbs?

f) What are the Punctuation marks? Explain.

g) Mrs. Shashi Sharma walks up to Mr. Rajesh Sarkar, an employee in
the bank where she has just started working. Write a short dialogue
where both introduce each other.

Q3) Attempt any 5 out of 7 from the following. [25]

a) Describe 'Gaiety Hand'.

b) What ' Subtle and effective' method does Gardiner suggest for dealing
with people who lack good manners?

c) What is the tone of the poem 'The Felling of the Banyan Tree'?

d) What does Tagore mean by 'Deliverance'? Where is it to be found?

e) Write down the theme of the poem 'A Red Red Rose'.

f) What are Tenses? Explain four sub-types of present tense with example.

g) Share your opinion on vocabulary and the ways to improve it.

Q4) Attempt any 1 out of 2 from the following. [10]

a) Discuss the relevance of the title of 'In Sahyadri Hills - A lesson in
Humility'.

b) The general manager of a company invites two collegues to lunch.
One accepts and the other declines the invitation because of some other
engagement. Write a dialogue on this situation.


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àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s 10 àíZm§Mr CÎmao 20 eãXm§V {bhm. [10]

A) "bmb {MIb' `m H$WoVrb ~mny hm {H$VdrVbm _wbJm Amho?

~) "nmD$g Ambm _moR>m' hr H$Wm H$moUr {bhrbr Amho?

H$) "CR>mdU' `m H$WoVrb nmÌm§Mr Zmdo gm§Jm.

S>) "XJS> XdmImZm' `m H$WoVrb Zm`H$mMo Zmd gm§Jm.

B) "dmngr' `m H$WoMo boIH$ H$moU AmhoV.

\$) EH$m§H$sHo$Mo KQ>H$ gm§Jm.

`) "{dÇ>b Vmo Ambm Ambm' `m EH$m§{H$Ho$Vrb nmÌm§Mr Zmdo gm§Jm.

a) "h§S>m^a Mm§XÊ`m' hr EH$m§{H$H$m H$moUmMr Amho.

b) "h§S>m^a Mm§XÊ`m' `m EH$m§{H$Ho$Vrb nmÌm§Mr Zmdo gm§Jm.

d) g{MZ nmQ>rb `m§À`m H$moUË`m H$Wmg§J«hmVyZ "H$ï>mMr ^mH$ar' hr H$Wm KoVbobr Amho.

e) "eŵ _§Jb gmdYmZ' hr H$Wm g§O` H$i_H$a `m§À`m H$moUË`m H$Wm g§J«hmVrb Amho.

g) EH$ A§H$mMm H$mbmdYr Ago H$emMo ñdén AgVo.
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àíZ àíZ àíZ àíZ àíZ 2) Imbrbn¡H$s 5 àíZm§Mr CÎmao 100 eãXm§V {bhm. [25]

A) ~m~wamd ~mJwb `m§À`m "Ooìhm _r OmV Mmoabr hmoVrZ' `m H$WoMm WmoS>Š`mV Ame` gm§Jm.

~) "bmb {MIb' `m H$WoVrb "~mny' `m nmÌm{df`r WmoS>Š`mV gm§Jm.

H$) "CR>mdU' `m H$WoÀ`m {ef©H$m{df`r WmoS>Š`mV gm§Jm.

S>) EH$m§{H$Ho$Mo ñdén WmoS>Š`mV ñnï> H$am.

B) "h§S>m^a Mm§XÊ`m' `m EH$m§{H$Ho$Vrb "_mñVa' `m ì`{ŠVaoIo {df`r gm§Jm.

\$) "{dÇ>b Vmo Ambm Ambm' `m EH$m§{H$Ho$Vrb g§dmX WmoS>Š`mV ñnï> H$am.

`) gXmZ§X Xoe_wI `m§Mm WmoS>Š`mV n[aM` Úm.

àíZ àíZ àíZ àíZ àíZ 3) Imbrbn¡H$s 5 àíZm§Mr CÎmao 100 eãXm§V {bhm. [25]

A) "XJS> XdmImZm' ̀ m amO|Ð _bmogo ̀ m§À`m H$WoVrb dmVmdaU{Z{_©Vr {df`r WmoS>Š`mV gm§Jm.

~) Cfm{H$aU AmÌm_ `m§À`m "~mOm' `m H$WoMr d¡{eï>ço gm§Jm.

H$) g{MZ nmQ>rb `m§À`m "H$ï>mMr ^mH$ar' `m H$WoMr  d¡{eï>ço WmoS>Š`mV gm§Jm.

S>) "CR>mdU' H$WoVrb H$mnyg {dH«$sbm ZoVmZmMm eofamdMm g§Kf© WmoS>Š`mV AYmoao{IV H$am.

B) "h§S>m^a Mm§XÊ`m' `m EH$m§{H$Ho$Vrb {dZmoX {Z{_©Vr H$aUmè`m nmÌm{df`r WmoS>Š`mV gm§Jm.

\$) "{dÇ>b Vmo Ambm Ambm' `m EH$m§{H$Ho$Vrb "^ìOr' `m nmÌmMo ñd^md{MÌ WmoS>Š`mV
aoImQ>m.

`) boIZ H$m¡eë`mMo ñdén WmoS>Š`mV ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) Imbrbn¡H$s EH$m àíZmMo CÎma 200 eãXm§V {bhm. [10]

A) "H$ï>mMr ^mH$ar' `m H$WoVrb "{dZm`H$' Mm g§Kf© AYmoao{IV H$am.

~) "h§S>m^a Mm§XÊ`m' `m EH$m§{H$Ho$Vrb ì`{ŠVaoIm§Mm nam_e© Úm.


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àíZ àíZ àíZ àíZ àíZ 1) {ZåZ{b{IV _| go {H$Ýht Xg àíZm| Ho$ CÎma EH$ dmŠ` _| {b{IE … [10]

A) "amoQ>r Am¡a g§gX' H${dVm H$m {Vgam AmX_r Š`m H$a ahm h¡?

~) "Yma' H${dVm Ho$ aM{`Vm H$m¡Z h¡?

H$) {edmOr Ho$ Vrgar Am§I go {ZH$br _hmÁdmbm go H$m¡Z ^ñ_ hmo J`m?

S>) "H$m{bXmg' gM-gM ~VbmZm `h H$mì` n§{ŠV H$m¡Z gr H${dVm H$s h¡?

B) "Cfm {à §̀dXm' Ûmam {b{IV H$hmZr H$m Zm_ ~VmBE?

\$) "lr_Vr {S>gyOm H$mo {H$gZo nÌ {bIm h¡?

`) "EH$ Q>moH$ar ^a {_Q²>Q>r' H$hmZr Ho$ H$WmH$ma H$m¡Z h¡?

a) AÀN>o gwÌg§MmbH$ H$m EH$ JwU ~VmE± &

b) "nmR>embm' eãX H$m qhXr ewÕ ê$n {b{IE?

d) "^`' {Z~§Y Ho$ {Z~§YH$ma H$m¡Z h¡?

e) "gm°âQ>doAa' {H$go H$hVo h¡?

g) "Yma' H${dVm Ho$ H${d H$m¡Z h¡?
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àíZ àíZ àíZ àíZ àíZ 2) {ZåZ{b{IV _| go nm±M àíZm| Ho$ CÎma {b{IE … [25]

A) boIZ H$m¡eë` H$mo ñnï> H$s{OE &

~) "H$m{bXmg' H${dVm H$m ^mdmW© {b{IE &

H$) "amoQ>r Am¡a g§gX' H${dVm go Yw{_b _oao Xoe H$s g§gX _m¡Z h¡ Š`m| H$h aho h¡?

S>) "{_goO {S>gyOm Ho$ Zm_ nÌ' H$hmZr H$s g_rjm {b{IE?

B) "amoeZr Ho$ Cg nma' H${dVm H$s _w»` g§doXZm na àH$me S>m{bE &

\$) "{Z~§Y' boIZ H$s _w»` {deofVmE± {b{IE &

`) "gaOy ¡̂̀ m' H$hmZr Ho$ gaOŷ ¡̀ m H$m n[aM` Xr{OE &

àíZ àíZ àíZ àíZ àíZ 3) {ZåZ{b{IV _| go {H$Ýht nm±M àíZm| Ho$ CÎma {b{IE … [25]

A) {dkmnZ boIZ H$s _w»` {deofVmE± {b{IE &

~) [anmoVm©O boIZ H$m n[aM` Xr{OE &

H$) "EH$ ~y§X ghgm CN>br' `mÌm d¥Îmm§V H$s g_rjm {b{IE &

S>) "à{VemoY' EH$m§H$s H$m gm_mÝ` n[aM` Xr{OE &

B) "nQ>H$Wm' boIZ Š`m h¡ &

\$) "{dkmnZ' daXmZ `m A{^emn ñnï> H$s{OE &

`) "B§Q>aZoQ>' H$s gm_mÝ` OmZH$mar Xr{OE &

àíZ àíZ àíZ àíZ àíZ 4) {ZåZ{b{IV _| go EH$ àíZ H$m CÎma {b{IE … [10]

A) {dkmnZ boIZ H$mo n[a^m{fV H$aVo hþE {dkmnZ H$s ^mfm e¡br na àH$me S>m{bE &

~) "qOXJr Am¡a Jwbm~ Ho$ \y$b' H$hmZr H$s g_rjm {b{IE &





Q1) EH$m dmŠ`mV CÎmao {bhm (H$moUVohr Xhm) … [10]

i) C_mh¡_dVr ho Am»`mZ H$moUË`m Cn{ZfXmVrb Amho?

ii) "H$m Efm H$m?' `m dmŠ`mMm AW© {bhm.

iii) "n#mMm_a' `m d¥ÎmmMo JwU {bhm.

iv) "amg^' `m eãXmMm AW© {bhm.

v) "{dXþaZr{V' _hm^maVmÀ`m H$moUË`m ndm©V òVo?

vi) "{edVmÊS>dñVmoÌ_²' Hw$Ur aMbo Amho?

vii) nm{UZr` gyÌmZwgma "nX' eãXmMr ì`m»`m {bhm.

viii) "à{Vkm`m¡JÝYam`U' øm ZmQ>H$mMm H$Vm© H$moU Amho?

ix) "Aï>m§JöX`' hm J«§W Hw$Ur aMbm?

x) "{VbH$`emoU©d_²' `m H$mì`mMo Zm`H$ H$moU Amho?

xi) "XþJ©bjU_²' `m nmR>mZwgma XþJm©Mo {H$Vr àH$ma d{U©bo AmhoV?

xii) "n#m_doX' åhUyZ H$moUVm J«§W AmoiIbm OmVmo?

Q2) A) g{dñVa CÎma {bhm (H$moUË`mhr EH$mMo) … [20]

i) "H$m Efm H$m' `m nmR>mMo agJ«hU H$am.

ii) "Amhma{dMma…' `m nmR>mMm Ame` ñnï> H$am.

Total No. of Questions : 4]
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B) Imbrbn¡H$s H$moUË`mhr EH$mMo B§J«Or qH$dm _amR>r _Ü ò ^mfm§Va H$am. [5]

i) H$pñ_¨{œX{Yð>mZo CÕVm¡Zm_ JX©̂ … à{Vdg{V ñ_ & g gX¡d aOH$J¥ho ^mamoÛhZ§ H¥$Ëdm amÌm¡
ñdoÀN>`m n ©̀Q>{V & VV… àË ỳfo ~ÝYZ^`mV² ñd`_od amOH$J¥h_`m{V & amOH$mo{n VËg§~ÝYZoZ
{Z ẁZ{º$ & AW Vñ` amÌm¡ n ©̀Q>V… joÌm{U H$Xm{MV² lwJmboZ gh _¡Ìr g§OmVm & g M
nrMmaËdmV² d¥{V^L²>J§ H¥$Ëdm H$H©${Q>H$mjoÌo e¥Jmbg{hV… à{de{V &

ii) ì`mgmo doXmÝVemók… {gÕmZm§ H${nbmo Jwé… &

Xe©Zm{Z àdº$mamo kmZ{dkmZnmaJm… &&

am_m`U§ ^maVm»`mZ{_{Vhmgm¡ gw{dlwVm¡ &

{dœmZÝX àXmVmam¡ dmë_r{H$ì`mg{Z{_©Vr &&

Q3) A) g{dñVa CÎma {bhm (H$moUË`mhr EH$mMo) … [20]

i) "gmJadU©Z_²' `m nmR>mMo agJ«hU H$am.

ii) "XþJ©bjU_²' hm nmR> ñnï> H$am.

B) g§X^m©gh ñnï>rH$aU H$am (H$moUVohr EH$) … [5]

i) A{¾dm© Ah§ Apñ_ B{V A~«drV² OmVdoXm dm Ah_pñ_ B{V &

ii) OJ«mh nmR²>`_¥½doXmV² &

Q4) Imbrbn¡H$s H$moUË`mhr EH$mda {ddoMH$ n[aÀN>oX {bhm … [10]

i) ZmQ>çemó_²

ii) Cn{ZfX²


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Q1) Answer the following questions in a sentence each (Any 10) : [10]

a) Why does the writer favour Bharat Brand of  English in the essay ‘Toasted
English.

b) What is the theme of the poem, ‘I Remember I Remember’?

c) Whom does Harvey Maxwell propose in ‘The Romance of a Busy
Broker?

d) Who is Framton Nuttel in ‘The Open Window’?

e) What did Mrs. Hay gift the Burnell children in ‘The Doll’s House’?

f) What does the narrator steal from Arun’s house in ‘The Thief’?

g) What makes the speaker unhappy in ‘Sonnet 29’?

h) What is the central idea of the poem. ‘The World is Too Much With
Us’?

i) How many wishes could the monkey’s paw grant in the play ‘The
Monkey’s Paw’?

j) Who is Nikita Ivantich in ‘The Swan Song’?

k) What is a Phoneme?

l) Give an example of a Polysyllabic word.

SEAT No. :

P.T.O.
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Q2) Answer the following questions in about 60-70 words each (Any 5 ) :
[25]

a) What Lesson did A.P.J. Abdul Kalam learn from the incident in ‘A Lesson
My Father Taught Me’?

b) Justify the title of the story, ‘The Open Window’.
c) Describe the atmosphere in the stock broker’s office in ‘The Romance

of a Busy Broker’.
d) Why do the Burnell children rush to school? What are they excited about?
e) What is the cause of quarrel between the Mountain and the squirrel in the

poem. ‘The Mountain and the Squirrel’?
f) Describe the free India visualised by Rabindranath Tagore in the poem.

‘Where the Mind is without fear’?
g) Comment on ‘The Listener’s’ as a poem of Magic realism.

Q3) Answer the following questions in about 60-70 words each (Any 5 ) :
[25]

a) How does the writer bring about the warmth in the relationship of the
white family in ‘The Monkey’s Paw’?

b) Narrate the events that lead to Herbert’s death in ‘The Monkey’s Paw’.
c) How is the theme of growing old depicted in the play ‘The Swan Song’?
d) What does the term ‘swan-song’ mean? Discuss with reference to the

play ‘The Swan Song’.
e) Explain the concept of stress with suitable examples.
f) Write a note on Indian English and its pecularities.
g) Define and explain the concept of Minimal Pairs.

Q4) Answer the following questions in about 150 words each : (Any 1)
[10]

a) What is the noble message given in the poem, ‘No Men are Foreign’?
b) How does ‘Sonnet 29’ celebrate the presence of love in the poet’s life?





Q1) Write the answer in One sentence (any ten) : [10]

1) What is the main function of education to create unity in society?

2) What is Informal Education?

3) What thing did thinkers notice for social change?

4) What do you mean by 'Earn and Learn'?

5) After Independence, which commission was established in 1948 to
give proper direction to education in India?

6) What kind of development is expected of the students, who come to
the school through education whose main goal is 'All round development
of students'?

7) Write means of Mass Media.

8) What was the effective means of Public Education and Public awareness
during pre-independence period?

9) Which are the channels of pre-primary Education Imparted?

10) How should be the teaching method in primary education?

11) What is Education Psychology?

12) What is Introspection?

Total No. of Questions : 4]

[Total No. of Pages : 4
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Q2) Write the answers in short (any five) : [25]

1) Write the importance of education in personal Development.

2) Discuss Karmveer Bhaurao Patil's opinion about students.

3) Write short note- Education and Economic Development.

4) Explain the functions of Radio.

5) Explain the importance of Internet in 21st century.

6) Write the contribution of Madam Montessori in pre-primary education.

7) Write limitations of Experimental Observation method.

Q3) Write the answer in short (Any five) : [25]

1) Write the characteristics of Informal Education.

2) Explain how the curriculum should be according to Rabindranath
Tagore's point of view.

3) How can National Integration be promoted through education?

4) Write the Importance of Newspapers.

5) Explain the aims of Pre Primary Education.

6) Write the Educational thoughts of Anutal Wagh.

7) Explain the different Branches of Psychology.

Q4) Write the answer of question in detail (any one) : [10]

1) Write the characteristics of Formal and Non-Formal Education.

2) Write the objectives of the following commission and policy regarding
Education in modern India.

a) Kothari Commission

b) National Education Policy.


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[5961]SODL-106
F.Y. B.A.

116 : FUNDAMENTALS OF EDUCATION
{ejUmMr _ybVËdo

(2019 Pattern)
(_amR>r ê$nm§Va)

doi : 3 Vmg     ] [EHy$U JwU : 70
gyMZm : 1) gd© àíZ gmoS>{dUo A{Zdm ©̀ Amho.

2) 5 JwUm§À`m àíZm§Mr eãX _`m©X 50 Vo 100 eãX EdT>r Amho.
3) 10 JwUm§À`m àíZm§Mr eãX _`m©X 100 Vo 200 eãX EdT>r Amho.
4) COdrH$S>rb A§H$ JwU Xe©{dVmV.

PA-4739

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mo CÎma EH$m dmŠ`mV {bhm (H$moUVohr Xhm) … [10]

1) g_mOm_Ü ò EoŠ` {Z_m©U H$aÊ`mgmR>r {ejU H$moUVo _w»` H$m ©̀ H$aVo?

2) ghO {ejU åhUOo H$m`?

3) g_mO n[adV©ZmgmR>r H$moUVr Jmoï> {dMmad§Vm§À`m bjmV Ambr?

4) "H$_dm d {eH$m' `mMm Zo_H$m AW© H$m`?

5) ñdmV§Í` àmárZ§Va ̂ maVm_Ü ò {ejUmbm ̀ mo½` {Xem {_imdr, ̀ m hoVyZo 1948 _Ü ò H$moUË`m
Am`moJmMr ñWmnZm H$aÊ`mV Ambr.

6) "{dÚmÏ`mªMm gdmª{JU {dH$mg' ho à_wI Ü`o` Agboë`m {ejUmÛmao emioV Amboë`m
{dÚmÏ`mªMm H$moUVm {dH$mg Ano{jV AgVmo?

7) g_yh g§nH$m©Mr gmYZo H$moUVr?

8) ñdmV§Í`nyd© H$mimV bmoH${ejU d bmoH$OmJ¥VrMo à^mdr gmYZ H$moUVo hmoVo?

9) nyd© àmW{_H$ {ejU H$moU H$moUË`m _mÜ`_mVyZ {Xbo OmVo?

10) àmW{_H$ {ejUmV AÜ`mnZ nÕVr H$er Agmdr?

11) e¡j{UH$ _mZgemó åhUOo H$m`?

12) AmË_{ZarjU åhUOo H$m`?

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) WmoS>Š`mV CÎmao {bhm (H$moUVohr nmM) … [25]

1) d¡̀ {ŠVH$ {dH$mgmV {ejUmMo _hÎd {bhm.

2) H$_©dra ^mD$amd nmQ>rb `m§Mr {dÚmÏ`mª{df`rMr _Vo gm§Jm.

3) {Q>n {bhm - {ejU Am{U Am{W©H$ {dH$mg

4) ao{S>AmoMr H$m }̀ ñnï> H$am.

5) 21 ì`m eVH$mV B§Q>aZoQ>Mo _hËd ñnï> H$am.

6) _mXm_ _m±Q>ogar `m§Mo nyd© - àmW{_H$ {ejUmVrb `moJXmZ {bhm.

7) àm`mo{JH$ {ZarjU nÕVrÀ`m _`m©Xm {bhm.

àíZ àíZ àíZ àíZ àíZ 3) WmoS>Š`mV CÎmao {bhm (H$moUVohr nmM) … [25]

1) ghO {ejUmMr d¡{eï>ço {bhm.

2) adtÐZmW Q>mJmoam§À`m Ñ{ï>H$moZmVyZ Aä`mgH«$_ H$gm Agmdm, Vo ñnï> H$am.

3) {ejUmÛmao amï´>r` EH$mË_Vm H$em àH$mao dmT>rg bmdVm òVo.

4) d¥ÎmnÌm§Mo _hÎd WmoS>Š`mV {bhm.

5) nyd© àmW{_H$ {ejUmMr Ü ò̀ o ñnï> H$am.

6) AZwVmB© dmK `m§Mo e¡j{UH$ {dMma {bhm.

7) _mZg emómÀ`m {d{dY emIm ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) Imbrbn¡H$s H$moUË`mhr EH$m àíZmMo g{dñVa CÎma {bhm … [10]

1) Am¡nMm[aH$ d AZm¡nMm[aH$ {ejUmMo d¡{eï>ço {bhm.

2) AmYw{ZH$ ^maVmVrb {ejUmg§X^m©V nwT>rb Am`moJmMr d YmoaUmMr C{Ôï>o {bhm.

A) H$moR>mar Am`moJ

~) amï´>r` e¡j{UH$ YmoaU





Q1) Answer the following in one sentence each (Any 10) : [10]
a) Discuss the meaning of 'Micro Industries'.

b) Discuss the meaning of Education.

c) Discuss the meaning of 'Tourism'.

d) Discuss the meaning of 'Agricultural Productivity'.

e) Define 'Privatisation'.

f) Discuss the term 'Insurance'.

g) Discuss the term 'E-wallet'.

h) Mention two different types of Bank accounts.

i) Write the full form of NEFT.

j) Discuss the term 'Rural Credit'.

k) Discuss the meaning of 'Technology'.

l) Discuss the meaning of unemployment.

Q2) Answer the following in 50-100 words each (Any 5) : [25]
a) Discuss various factors affecting 'Crop-Pattern'.

b) Discuss various limitations/challenges of natural resources in India.

c) Discuss the concept of 'Digital-Economy'.

d) Discuss the term Water-Management in context of India. Discuss the
significance of Water-Management.

e) Discuss various challenges of Tourism Sector in India.

f) What are the Technology related challenges faced by Indian Industries?

g) What are the causes of Regional imbalances in India?
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Q3) Answer the following in 50-100 words each (Any 5) : [25]

a) Discuss the problems of Rural Industries.

b) What are the effects of privatisation.

c) Discuss the primary functions of Banks.

d) Discuss the Informal Sector in India.

e) Discuss the term 'E-commerce'.

f) What efforts have been made for poverty eradication in India?

g) Discuss various types of unemployment in rural sector (rural
unemployment).

Q4) Answer the following in 100-200 words (Any one) : [10]

a) Discuss the role of Agriculture in India.

b) What is meant by 'Economic Environment'? What are the Economic
and Political factors affecting Economic Environment.


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àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr EH$m dmŠ`mV CÎmao {bhm. (H$moUVohr 10) [10]

A) gwú_ CX`moJ åhUOo H$m`.

~) {ejU åhUOo H$m`.

H$) n ©̀Q>Z åhUOo H$m`.

S>) H¥$fr CËnmXH$Vm åhUOo H$m`.

B) ImgJrH$aU åhUOo H$m`.

\$) {d_m åhUOo H$m`.

`) B©-dm°boQ>Mr ì`m»`m {bhm.

a) ~±H$ ImË`mMo XmoZ àH$ma {bhm.

b) NEFT Mo nyU© ê$n {bhm.

d) J«m_rU nVnwadR>m åhUOo H$m`.

e) V§ÌkmZ åhUOo H$m`.

g) ~oamoOJmar åhUOo H$m`.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mr 50 Vo 100 eãXm§V CÎmao {bhm. (H$moUVohr 5) [25]

A) nrH$ AmH¥$Vr ~§Ymda n[aUm_ H$aUmao KQ>H$ ñnï> H$am.

~) Z¡g{J©H$ g§gmYZm~m~VMr AmìhmZo ñnï> H$am.

H$) {S>OrQ>b BH$m°Zm°_r g§H$ënZm ñnï> H$am.
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S>) ^maVmVrb Ob ì`dñWmnZ åhUOo H$m` gm§JyZ _hÎd ñnï> H$am.

B) n ©̀Q>Z joÌmg_moarb AmìhmZo ñnï> H$am.

\$) ^maVr` CX`moJm§nwT>rb V§ÌkmZ{df`H$ AmìhmZo ñnï> H$am.

`) àmXo{eH$ Ag_VmobmMr H$maUo ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mr 50 Vo 100 eãXm§V CÎmao {bhm. (H$moUVohr 5) [25]

A) J«m_rU CX`moOH$VoÀ`m g_ñ`m {bhm.

~) ImgJrH$aUmMo n[aUm_ ñnï> H$am.

H$) ~±Ho$Mr àmW{_H$ H$m }̀ ñnï> H$am.

S>) ^maVmVrb AZm¡nMm[aH$ joÌ ñnï> H$am.

B) B©-H$m°_g© g§H$ënZm ñnï> H$am.

\$) Ðm[aÐ` {Z_y©bZmgmR>r gaH$maZo Ho$boë`m Cnm` `moOZm ñnï> H$am.

`) J«m_rU ~oamoOJmarMo àH$ma ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) Imbrb H$moUË`mhr EH$m àíZmMo CÎma 100 Vo 200 eãXm§V {bhm. (H$moUVmhr 1) [10]

A) ^maVr` AW©ì`dñWoV eoVr joÌmMr ŷ{_H$m ñnï> H$am.

~) Am{W©H$ n`m©daU åhUOo H$m` gm§JyZ Ë`mda n[aUm_ H$aUmao Am{W©H$ d amOH$s` KQ>H$
ñnï> H$am.





Q1) Attempt any Ten out of Twelve of the following : [10 × 1 = 10]
a) Constituent assembly constituted under which plan?

b) Give any two provisions of Government of India Act, 1935.

c) Who appointed as the constitutional adviser to the constituent assembly?

d) Write any two features of Fundamental Rights.

e) What is the meaning of the Word Republic?

f) The objective of the Directive Principles of state policy is to establish
_______ & ________ democracy in India.

g) Who describes Indian Federalism as cooperative Federalism?

h) What is the meaning of the word secular?

i) Which article of the constitution contains the power of the parliament
to amend the constitution?

j) Who is the Current President of India?

k) Vice-President is the ex-officio chairman of _________.

l) What is the meaning of advisory jurisdiction of the Supreme Court of
India?

Q2) Attempt any Five out of Seven of the following : [5 × 5 = 25]
a) Explain the importance of the Preamble of the India Constitution.

b) Discuss Right to Equality.

c) Analyse centre-state Administrative relations.

Total No. of Questions : 4]
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d) Describe basic structure doctrine in brief.

e) Explain composition of the Parliament.

f) What is the constitutional position of the president?

g) Discuss the functions of Election Commission of India.

Q3) Attempt any Five out of Seven of the following : [5 × 5 = 25]

a) Give any five Fundamental Duties.

b) Discuss Kaveri River water dispute.

c) Explain 42nd constitutional amendment.

d) Describe the role of Chief Minister.

e) Discuss the functions of Prime Minister.

f) Explain the role of the Governor.

g) What is the Meaning & Significance of Judicial review?

Q4) Attempt any One out of Two of the following : [1 × 10 = 10]

a) Explain the Right of Liberty in detail.

b) Write the main features of Indian Constitution.





Total No. of Questions: 4]
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àíZ àíZ àíZ àíZ àíZ 1) nwT>rb 12 n¡H$s 10 àíZm§Mr CÎmao Xçm. [10 × 1 = 10]
A) H$moUË`m `moOZoImbr KQ>Zmg{_VrMr ñWmnZm H$aÊ`mV Ambr.

~) ^maV àemgZ H$m`Xm 1935, `mÀ`m H$moUË`mhr XmoZ VaVwXr {bhm.

H$) KQ>Zmg{_VrMo KQ>Zm g„mJma åhUyZ H$moUmMr {Z ẁº$s H$aÊ`mV Ambr?

S>) _yb ŷV h¸$m§Mr H$moUVrhr XmoZ d¡{eï> ò {bhm.

B) "JUamÁ`' `m eãXmMm AW© H$m`?

\$) amÁ` YmoaUmÀ`m _mJ©Xe©H$ VÎdm§Mo C{Ôï> ho ^maVmV ............ d ............. bmoH$emhr
ñWmnZ H$aUo ho Amho.

`) ^maVr` g§KamÁ`mMo dU©Z ghH$mar g§KamÁ` Ago H$moUr Ho$bo Amho.

a) "Y_©{Zanoj' `m eãXmMm AW© H$m`?

b) amÁ`KQ>ZoÀ`m H$moUË`m H$b_m_Ü ò g§gXoMm KQ>ZmXþê$ñVr H$aÊ`mMm A{YH$ma XoÊ`mV Ambm
Amho?

d) ^maVmMo gÜ`mMo amï´>nVr H$moU AmhoV?

e) Cnamï´>nVr ho .............. `mMo nX{gÕ AÜ`j AgVmV.

g) gdm}À` Ý`m`mb`mMo g„m{df`H$ A{YH$majoÌ `mMm AW© H$m`?

àíZ àíZ àíZ àíZ àíZ 2) nwT>rb 7 n¡H$s 5 àíZm§Mr CÎmao Xçm. [5 × 5 = 25]
A) ^maVr` amÁ`KQ>ZoÀ`m gaZmå`mMo _hÎd ñnï> H$am.

~) g_VoÀ`m A{YH$mamMr MMm© H$am.

H$) H|$Ð-amÁ` àemgH$s` g§~§Ym§Mo {díbofU H$am.
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S>) amÁ`KQ>ZoÀ`m _wb ŷV g§aMZm {gÕm§VmMo WmoS>Š`mV dU©Z H$am.

B) g§gXoMr g§aMZm ñnï> H$am.

\$) amï´>nVtMo KQ>ZmË_H$ ñWmZ H$m` Amho?

`) ^maVr` {ZdS>UwH$ Am`moJmÀ`m H$m`mªMr MMm© H$am.

àíZ àíZ àíZ àíZ àíZ 3) nwT>rb 7 n¡H$s 5 àíZm§Mr CÎmao Xçm. [5 × 5 = 25]

A) H$moUVrhr 5 _yb ŷV H$V©ì ò {bhm.

~) H$mdoar ZXr nmUrdmQ>n àíZmMr MMm© H$am.

H$) 42 dr KQ>ZmXþê$ñVr ñnï> H$am.

S>) _w»`_§Í`mÀ`m ŷ{_Ho$Mo dU©Z H$am.

B) n§VàYmZm§À`m H$m`mªMr MMm© H$am.

\$) amÁ`nmbm§Mr ŷ{_H$m ñnï> H$am.

`) Ý`m`mb`rZ nwZ{d©bmoH$ZmMm AW© d _hÎd H$m` Amho?

àíZ àíZ àíZ àíZ àíZ 4) nwT>rb 2 n¡H$s 1 àíZmMo CÎma Xçm. [1 × 10 = 10]

A) ñdmV§Í`mMm h¸$ g{dñVanUo ñnï> H$am.

~) ^maVr` amÁ`KQ>ZoMr _w»` d¡{eï> ò {bhm.





Q1) Answer the following question in a sentence each (any 10) : [10]

a) What is an archive?

b) In which river valley did the Harappan Civilization emerge?

c) In which year Harappan culture was discovered?

d) What does the word vid mean?

e) Which deities are mentioned in the Rugved a as kings.

f) What is a correct reading?

g) Where did Gautam Buddha's Mahaparinirvana take Place.

h) In which year did emperor Ashoka conquer the kalinga region.

i) By which name is the shaka dynasty of Maharashtra known.

j) Who founded the shung dynasty?

k) What was the term for village head during Satavahana Period.

l) Who was the ultimate head of power during the Gupta Period.

Q2) Answer any five of the following seven questions in 50 to 100 words :
[25]

a) Write a information about the concept of Numismatics.

b) Explain the concept of Archaeology.

c) Explain the social life during Harappa Period.
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d) Write a information about the types of major vedas.

e) Explain the Four Noble Truths of Buddhism.

f) Write a information about Emperor Chandragupta.

g) Briefly explain the Mauryan administrative system.

Q3) Write short note on any five of the following : [25]

a) Kushan Politics

b) Gautamiputra Satakarni

c) Sangam literature

d) Agrarian administration during Gupta Period.

e) Science and Technology during Gupta Period.

f) Manimekhalai

g) Literary contribution of the Rashtrakutas.

Q4) Answer the following questions in 150 to 200 words (any one) : [10]

a) Write in detail the social life of Pre-vedic Period.

b) Explain the political life during the Sangam Period.


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àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr EH$m dmŠ`mV CÎmao {bhm. (H$moUVohr 10) [10]
A) nwam{^boI åhUOo H$m`?

~) hS>ßnm g§ñH¥$Vr H$moUË`m ZXrÀ`m Imoè`mV CX`mg Ambr.

H$) hS>ßnm g§ñH¥$VrMm emoY H$moUË`m gmbr bmJbm.

S>) {dX² `m eãXmMm AW© H$m` hmoVmo?

B) amOm åhUyZ G$½doXm_Ü ò H$moUË`m XodVm§Mm C„oI AmT>iVmo?

\$) gå`H$ dmM åhUOo H$m`?

`) Jm¡V_ ~wÕm§Mo _hmn[a{Zdm©U H$moR>o Pmbo?

a) g_«mQ> AemoH$mZo H$qbJ àXoe H$moUË`m gmbr qOHy$Z KoVbm.

b) _hmamï´>mVrb eH$ d§e H$moUË`m ZmdmZo AmoiIbm OmVmo.

d) ew§J KamÊ`mMr ñWmnZm H$moUr Ho$br?

e) gmVdmhZ H$mimV J«m_ à_wImg H$moUVr g§km hmoVr.

g) Jwá H$mbI§S>mV gÎmoMm A§{V_ à_wI H$moU hmoVm?

àíZ àíZ àíZ àíZ àíZ 2) Imbrb gmV àíZm§n¡H$s H$moUË`mhr nmM àíZm§Mr CÎmao 50 Vo 100 eãXmV {bhm. [25]
A) ZmUH$emó `m g§H$ënZo{df`r _m{hVr {bhm.

~) nwamVËd{dÚm hr g§H$ënZm ñnï> H$am.

H$) hS>ßnmH$mbrZ g_mOOrdZ {deX H$am.
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S>) à_wI doXm§Mo àH$ma gm§JyZ _m{hVr {bhm.

B) ~m¡Õ Y_m©Mr Mma Am ©̀gË ò {deX H$am.

\$) M§ÐJwá _m¡̀ © amOm{df`r _m{hVr {bhm.

`) _m¡̀ ©H$mbrZ àemgZì`dñWm WmoS>Š`mV ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 3) Imbrb gmVn¡H$s H$moUË`mhr nmM àíZm§Mr CÎmao g§{já ñdê$nmV {bhm. [25]

A) Hw$fmU amOZrVr

~) Jm¡V_rnwÌ gmVH$Uu

H$) g§J_ gm{hË`

S>) JwáH$mbrZ H¥$fràemgZ

B) JwáH$mbrZ {dkmZ d V§ÌkmZ

\$) _{U_oIb¡

`) amï´>Hy$Q>m§Mo gm{hpË`H$ `moJXmZ

àíZ àíZ àíZ àíZ àíZ 4) Imbrbn¡H$s EH$m àíZmMo CÎma 150 Vo 200 eãXmV {bhm. [10]

A) nyd© d¡{XH$ H$mbI§S>mVrb gm_m{OH$ OrdZ g{dñVa {bhm.

~) g§J_H$mbrZ amOH$s` OrdZ ñnï> H$am.





Q1) Attempt any ten out of twelve from the following : [10 × 1 = 10]
a) What is Administrative recruitment?

b) Write definition of budget.

c) What is unity of Command?

d) Administrative behavior is studied based on which approach.

e) Who gave the POSDCoRB Concept?

f) Write any two types of organisation.

g) What is administrative adjudication?

h) What is internal recruitment?

i) What is Participatory budget?

j) Write any two types of training.

k) Who wrote the book Towards a New Public Administration?

l) Who wrote the first book on Public Administration?

Q2) Attempt any five out of seven from the following : [5 × 5 = 25]
a) What is Ombudsman? Write importance of Ombudsman.

b) What is Administrative Tribunal? Write its structure.

c) Write the need of administrative accountability and control.

d) Explain the process of budget formation.

e) Explain merits and demerits of Internal recruitment.

f) Explain the difference between Line and advisory Organisation.

g) Public Administration Science of Art. Comment.

Total No. of Questions : 4]
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Q3) Attempt any five out of seven from the following : [5 × 5 = 25]

a) Write functions and Powers of Lokayukta.

b) Write information about Public Service Right.

c) Write ways of control of Legislature on administration.

d) Write definition and types of budget.

e) Write various types of training.

f) Write merits and demerits of behavioral approach.

g) Explain the difference between Public and Private administration.

Q4) Attempt any one out of two from the following : [1 × 10 = 10]

a) Explain POSDCoRB Concept in detail.

b) What is Lokpal? Write functions, powers and structure of Lokpal in
detail.





Total No. of Questions: 4]
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àíZ àíZ àíZ àíZ àíZ 1) Imbrb ~mah àíZm§n¡H$s H$moUË`mhr Xhm àíZm§Mr CÎmao {bhm. [10 × 1 = 10]
A) àemgH$s` ^aVr åhUOo H$m`?

~) A§XmOnÌH$mMr ì`m»`m {bhm.

H$) AmkoMr EH$Vm åhUOo H$m`?

S>) àemgH$s` dV©ZmMm Aä`mg H$moUË`m Ñï>rH$moZmÀ`m AmYmao Ho$bm OmVmo?

B) POSDCoRB g§H$ënZm H$moUr _m§S>br?

\$) g§KQ>ZoMo H$moUVohr XmoZ àH$ma {bhm.

`) àemgH$s` {ZdmS>m åhUOo H$m`?

a) A§VJ©V ^aVr åhUOo H$m`?

b) gh^mJr A§XmOnÌH$ åhUOo H$m`?

d) à{ejUmMo H$moUVohr XmoZ \$m`Xo {bhm.

e) "Towards a New Public Administration' ho nwñVH$ H$moUr {bhbo?

g) bmoH$àemgZmdarb n{hbm J«§W H$moUr {bhbm?

àíZ àíZ àíZ àíZ àíZ 2) Imbrb gmV àíZm§n¡H$s H$moUVohr nmM àíZm§Mr CÎmao WmoS>Š`mV {bhm. [5 × 5 = 25]
A) Am°å~wS²>g_°Z åhUOo H$m`? Am°å~wS²>g_°ZMo _hËd {bhm.

~) àemgH$s` Ý`m`m{YH$aU åhUOo H$m`? Ë`mMr aMZm {bhm.

H$) àemgH$s` CÎmaXm{`Ëd Am{U {Z §̀ÌUmMr Amdí`H$Vm {bhm.

S>) A§XmOnÌH$mÀ`m {Z{_©VrMr à{H«$`m ñnï> H$am.
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B) A§VJ©V ^aVr (~T>Vr) nÕVrMo JwU-Xmof ñnï> H$am.

\$) aoIm/bmB©Z g§KQ>Zm d g„mJma g§KQ>Zm `mVrb \$aH$ ñnï> H$am.

`) bmoH$àemgZ emó H$s H$bm `mda ^mî` H$am.

àíZ àíZ àíZ àíZ àíZ 3) Imbrb gmV àíZm§n¡H$s H$moUË`mhr nmM àíZm§Mr WmoS>Š`mV CÎmao {bhm. [5 × 5 = 25]

A) bmoH$m ẁº$mMo H$m ©̀ Am{U A{YH$ma {bhm.

~) bmoH$godm h¸$m{df`r _m{hVr {bhm.

H$) àemgZmdarb H$m`Xo_§S>imÀ`m {Z §̀ÌUmMo _mJ© {bhm.

S>) A§XmOnÌH$mMr ì`m»`m gm§JyZ àH$ma {bhm.

B) à{ejUmMo {d{dY àH$ma {bhm.

\$) dV©ZdmXr Ñï>rH$moUmMo JwU-Xmof {bhm.

`) bmoH$àemgZ d ImOJr àemgZ \$aH$ ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) Imbrb XmoZ àíZm§n¡H$s H$moUË`mhr EH$m àíZmMo g{dñVa CÎma {bhm. [1 × 10 = 10]

A) POSDCoRB g§H$ënZm g{dñVa ñnï> H$am.

~) bmoH$nmb åhUOo H$m`? bmoH$nmbmMr H$m }̀, A{YH$ma d aMZm g{dñVa {bhm.


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Q1) Answer the following questions in a sentence each (Any 10) [10]
i) Name the two words, the term Psychology has been derived from.

ii) What is Industrial/organisational Psychology.

iii) Who is the founder of Humanistic Psychology.

iv) Define Introspection.

v) What is meant by divided attention.

vi) What are the Psycho social motives.

vii) How do you calculate IQ.

viii) Define social perception.

ix) Define self-esteem.

x) Explain interpersonal attraction.

xi) Define Aggression.

xii) Define obedience.

Q2) Answer any 5 of the following 7 questions in 50-100 words. [25]
a) Explain the goals of Psychology.

b) What are memory improvement techniques.

c) What are the levels of social behaviour.

d) Explain self-presentation.

e) Explain psychoanalytical theory of Personality.

f) Describe the causes of prejudices.

g) Explain drive reduction theory.

P.T.O.
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Q3) Write short note on any 5 of the following. [25]

a) Explain the experimental method of Psychology.

b) What are different types of emotions.

c) Explain the types of locus of control.

d) Why do we leave group.

e) Explain the information processing model of memory.

f) Write a short note on Indian Psychology.

g) Explain Gordon Allport trait theory.

Q4) Answer one of the following questions in 150-200 words. [10]

a) Define conflict. Explain types of conflict in detail.

b) Define prejudice. Explain the strategies to reduce prejudice.


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PA-4744

à.à.à.à.à.1) nwT>rb àíZm§Mr EH$m dm³¶mV CÎmao Xçm. (H$moUVohr Xhm) [10]

i) ‘mZgemó hr g§H$ënZm Á¶m XmoZ eãXmnmgwZ KoVbr Amho Vo eãX gm§Jm.

ii) Am¡Úmo{JH$ d g§KQ>ZmË‘H$ ‘mZgemó åhUOo H$m¶?

iii) ‘mZdVmdmXr ‘mZgemómMm OZH$ H$moU Amho?

iv) AmË‘{ZdoXZ åhUOo H$m¶?

v) {d^mOrV AdYmZ åhUOo H$m¶?

vi) ‘Zmogm‘mOrH$ hoVw åhUOo H$m¶?

vii) IQ (~wÕm§H$) H$gm H$mT>bm OmVmo?

viii) gm‘mOrH$ Ñ{ï>H$moZ åhUOo H$m¶?

ix) ñd… AmXa åhUOo H$m¶?

x) Am§Vad¡¶º$sH$ AmH$f©U åhUOo H$m¶?

xi) AmH«$‘º$m åhUOo H$m¶?

xii) AmkmYmaH$Vm åhUOo H$m¶?
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à.à.à.à.à.2) nwT>rb àíZm§Mr 50 Vo 100 eãXm§V CÎmao Xçm. (H$moUVohr nmM) [25]

A) ‘mZgemómMo hoVw ñnï> H$am.

~) ñ‘¥{V gwYma V§Ìo H$moUVo AmhoV.

H$) gm‘m{OH$ dV©ZmMo ñVa ñnï> H$am.

S>) ñd… gmXarH$aU åhUOo H$m¶?

B) ‘mZgemómÀ¶m ‘Zmo{díbofUmË‘H$ {gÕm§V ñnï> H$am.

’$) nyd© J«hmMo H$maUo ñnï> H$am.

¶) Drive Reduction {gÕm§V ñnï> H$am.

à.à.à.à.à.3) nwT>rb àíZm§Mr WmoS>³¶mV CÎmao Xçm. (H$moUVohr nmM) [25]

A) ‘mZgemómÀ¶m g§emoYZmË‘H$ nÕVr ñnï> H$am.

~) ^mdZoMo {d{dY àH$ma ñnï> H$am.

H$) bmoH$g Am°’$ H§$Q´>mob Mo àH$ma gm§Jm.

S>) AmnU g‘whmMm Ë¶mJ H$m H$aVmo?

B) ñ‘¥VrMm ‘m{hVr à{H«$¶mMo àmê$n (Information Processing Model) ñnï> H$am.

’$) ^maVr¶ ‘mZgemómda WmoS>³¶mV CÎma Xçm.

¶) Gordan Allport Mm d¡{eîQ>ç {gÕm§V (Trait Theory) gm§Jm.

à.à.à.à.à.4) nwT>rb àíZm§Mr 150 Vo 200 eãXm§V CÎmao Xçm. (H$moUVohr EH$) [10]

A) g§Kf© åhUOo H$m¶? g§Kfm©Mo {d{dY àH$ma g{dñVa ñnï> H$am.

~) nyd©J«h åhUOo H$m¶? nyd©J«h H$‘r H$aÊ¶mMr nÕVr ñnï> H$am.


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P.T.O.

Q1) Attempt any TEN of the following. [10]
a) Let A = {1, 2, 3, 4, 5} and B = {–1, 0, 2, 6, 8}. Find AB and AB.
b) Let f :     be bijective function defined by f (x) = 5x–2. Find

formula for f –1.
c) Define the greatest common divisor (g.c.d ).
d) Let n   and a, b   . If a  b (mod n), then show that b  a (mod n).
e) Show that the number z = 1 – i satisfy the equation z2 + 2z + 2 = 0.
f) Find modulus of z = 1 + i.
g) Find the direction cosines of normal to the plane 2x – 3y + 6z = 7.
h) Give an example of the perpendicular lines.
i) Find the centre of the sphere x2 + y2 + z2 – 2x + 4y – 6z = 2.
j) Identify the type of conic 3x2 – 8xy – 3y2 + 10x – 13y + 8 = 0.
k) Find the distance between the parallel planes 2x – 2y + z + 3 = 0 and

4x – 4y + 2z + 5 = 0.
l) Write the equation of the sphere whose center is (1, 2, 3) and radius is 1.

Q2) Attempt any FIVE of the following. [25]
a) If m|ab and (a, m)  = 1, then prove that m|b.
b) If f :     and g :    are defined by f (x) = 3x – 2 and

g(x) = x2 + 4, then compute f o g and g o f.
c) Find g. c. d. of - 35 and 63.
d) Show that n! > n2 for all n  .
e) If p is a prime and p|ab, then prove that p|a or p|b.
f) Construct the composition tables for addition and multiplication in  5.
g) Prove that |z1 + z2| < | z1 | + | z2 |, for z1, z2  .
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Q3) Attempt any FIVE of the following. [25]

a) Find the equation of the plane through the points (–1, 1, 1) and (1, –1, 1)
and perpendicular to the plane x + 2y + 2z = 5.

b) Find the equation of the plane passing through the intersection of the
planes x + 2y + 3z + 4 = 0  and 4x + 3y + 2z + 1 = 0 and the point
(0, 0, 0).

c) Find the radius and center of the sphere x2 + y2 + z2 – 2x + 4y – 6z = 2.

d) If the following lines are perpendicular.

1 2 3
3 2 2
1 5 6 ,

3 1 5

x y z
k

x y z
k

  
 


  

 


then find the value of k.

e) Find an angle  through which the axes should be rotated to remove the
product term in 7x2 + 12xy – 5y2 + 4x + 3y – 2 = 0.

f) Find the equation of the smallest sphere passing through A (2, – 3, 4) and
B (–5, 6, –7).

g) Prove that section of the sphere x2 + y2 + z2 +2ux + 2vy + 2wz + d = 0 by
the plane ax + by + cz + d ' = 0 is a circle.

Q4) Attempt any ONE of the following. [10]

a) Find the condition under which the plane lx + my + nz = p is a tangent
plane to the standard sphere x2 + y2 + z2 = a2.

b) Find the integers x and y such that (12378, 3054) = 12378x + 3054y.


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Q1) Attempt any TEN of the following. [10]
a) State Trichotomy property of real numbers.
b) State any two algebraic properties of  .

c) True or False? The sequence 
1
n

 
 
 

 converges to 0.

d) Define bounded sequence of real numbers.

e) Find domain of the real valued function 
1( )f x
x

 .

f) State    definition of limit.
g) True or False? Every differentiable function is continuous.
h) Find derivative of f(x) = ex2.
i) Find third derivative y3 of y = (2x + 1)2.
j) Define  linear first order differential equation.
k) Define exact differential equation.
l) Show that the differential equation ydx + xdy = 0 is exact.

Q2) Attempt any FIVE of the following. [25]
a) State and prove Triangle inequality.

b) Prove that 2  is not a rational number.
c) Prove that every convergent sequence is bounded.

P.T.O.
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d) Evaluate : 
2lim 1

n

n n

  
 

.

e) Using Squeeze theorem prove that 0
lim
x  x sin 

1 0
x

   
 

.

f) Let I = [a, b] be an interval and f : I   be continuous on I. If k
satisfies f (a) < k < f (b) then prove that there exists a point c  I such
that f (c) = k.

g) Examine the continuity of the following function at 0.

| | , 0;
( )

0, 0.

x x
f x x

x

  
 

Q3) Attempt any FIVE of the following. [25]
a) State and prove Lagrange’s Mean Value Theorem.

b) Verify Rolle’s Theorem for f (x) = 2x3 + x2 – 4x –2 on 2, 2   .

c) Evaluate : 
0

log(sin )lim .
cotx

x
x

d) Find nth derivative of y = (ax + b)m.

e) Solve the initial value problem , (1) 1dy x y
dx y

   .

f) Find the general solution of 
1dy y x

dx x
  .

g) Solve : (x2 – y)dx + (y2 – x)dy = 0.

Q4) Attempt any ONE of the following. [10]

a) i) Prove that 
0

1lim
x x

 does not exits.

ii) If real valued function f is continuous at a point c then prove that | f | is
also continuous at c.

b) State and prove Leibnitz’s theorem.


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Q1) Attempt any ten out of twelve from the following. [10]
a) Give an example of on-to function which is not one-one.

b) If y = x2+5x+5 then find 
dy
dx .

c) Define quadratic equation with an example.
d) Write any two properties of exponential function.
e) Explain compound interest with an example.

f) If 
4 3

A =
2 1
 
 
 

 and 
1 2

B =
3 4
 
 
 

 find A – B.

g) If 
1 2 3

A =
4 5 6
 
 
 

 and k = 10, find kA.

h) If 
5 3

A =
1 4
 
 
 

 find determinant of A.

i) If 
1 1

A =
0 0
 
 
 

, can we found inverse of A? Explain.

j) Find 2I = 2 xe dx

k) Find 
1

2

0

I 3x dx 
l) Explain one difference between Definite and Indefinite integral.

P.T.O.
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Q2) Attempt any five out of seven from the following. [25]
a) Find slope, y-intercept and x-intercept of the linear equation 8y–2x+16 = 0.
b) Solve the linear equation 9(3x+4)–2x = 11+5(4x–1).
c) Explain “Marginal concept” using an example.
d) A shop with current annual sales of Rs.10,000 projects a 12% growth in

sales annually. Find its projected sales in 4 years in terms of natural
exponential function.

e) Find the cofactor of matrix 
7 12

A =
4 3
 
 
 

.

f) Explain the difference between minors and cofactors of a matrix.

g) If 
3 (2 1)

5 2
x xy

x





 find 
dy
dx .

Q3) Attempt any five out of seven from the following. [25]

a) Solve the linear equation 3 1
4 5
x x
   .

b) Find the slope of a curvilinear function f (x) = 3x3 using the definition of
limit.

c) Find the average function of TC = 5Q2 + 7Q + 10. Also evaluate them at
Q = 2 and Q = 5.

d) Find the inflation point for f(x) = x3 – 18x2 + 96x – 80.
e) Solve the system of equation 18x – y = 87 and –2x + 36y = 98 using

matrix inverse method.
f) Write a note on, “optimization of functions”.
g) Explain the relationship between Area under the curve and Riemann sum.

Q4) Attempt any one out of two from the following. [10]
a) Write a note on consumers and producers surplus.

b) Find the inverse of 
4 2 5

A = 3 1 8
9 6 7

 
 
 
  

 using adjoint method.


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Q1) Attempt any ten out of twelve from the following. [10×1=10]

i) Who coined the term sociology?

ii) The term ‘socius’ derived from which language?

iii) Define Empiricism.

iv) List any two characteristics of culture.

v) Whenever two or more individuals come together and influence one
another, they may be said to constitute a social group. “Who defined so?

vi) “Sociological imagination is the vivid awareness of the relationship
between experience and the wider society.” Who said so?

vii) Define ‘Primary Groups’.

viii) What is social exclusion?

ix) What are the two prominent theories of multiculturalism?

x) List any two characteristics of Social change.

xi) What are the two types of polygamy?

xii) State two characteristics of a Social Movement.

P.T.O.
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Q2) Attempt any five out of seven from the following. [5×5=25]

a) Why is sociology considered a social science?

b) What are the three main types of Societies?

c) What is cultural lag?

d) Define social stratification and its types.

e) Describe the function of marriage.

f) What is democracy?

g) What are the different types of information gathered by the media?

Q3) Attempt any five out of seven from the following. [5×5=25]

a) Explain mills concept of ‘Sociological imagination’.

b) Discuss the characteristics of society.

c) Explain the characteristics of primary group.

d) Explain in details types of culture?

e) Describe the various types of family.

f) What is the importance of ‘Kinship in Indian society’?

g) What do you mean by secularization of religion?

Q4) Attempt any one out of two from the following. [1×10=10]

a) Describe the nature and scope of Sociology.

b) Define marriage and describe the various forms of Marriage.


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PA-4748

à.à.à.à.à.1) Imbrb ~mam àíZm§n¡H$s H$moUVohr Xhm àíZ gmoS>dm. [10×1=10]

i) g‘mOemó hr g§km H$moUr ‘m§S>br?

ii) "gmogrAg' hm eãX H$moUË¶m ^mfoVyZ Ambm Amho?

iii) AZŵ dàm‘mÊ¶dmXmMr ì¶m»¶m H$am.

iv) g§ñH¥$VrMr H$moUVrhr XmoZ d¡{eîQ>ço gm§Jm.

v) ""Ooìhm XmoZ qH$dm A{YH$ ì¶º$s EH$Ì ¶oVmV Am{U EH$‘oH$m§da à^md nmS>VmV V|ìhm Vo EH$
gm‘m{OH$ JQ> Agë¶mMo åhQ>bo OmD$ eH$Vo'' Ago H$moU n[a^m{fV Ho$bo?

vi) ""g‘mOemór¶ H$ënZmeº$s hr AZŵ d Am{U ì¶mnH$ g‘mO ¶m§À¶mVrb g§~§Ym§Mr ñnï> OmUrd
Amho.'' Ago H$moU åhUmbo?

vii) "àmW{‘H$ JQ>m' Mr ì¶m»¶m H$am.

viii) gm‘m{OH$ ~{hîH$ma åhUOo H$m¶?

ix) ~hþgm§ñH¥${VH$VoMo XmoZ à‘wI {gÕm§V H$moUVo AmhoV?

x) gm‘m{OH$ n[adV©ZmMr H$moUVrhr XmoZ d¡{eîQ>ço gm§Jm.

xi) ~hþnËZrËdmMo XmoZ àH$ma H$moUVo?

xii) gm‘m{OH$ MidirMr XmoZ d¡{eîQ>ço gm§Jm.
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à.à.à.à.à.2) Imbrb gmV àíZm§n¡H$s H$moUVohr nmM àíZ gmoS>dm. [5×5=25]

A) g‘mOemó ho gm‘m{OH$ emó H$m ‘mZbo OmVo?

~) g‘mOmMo VrZ ‘w»¶ àH$ma H$moUVo AmhoV?

H$) gm§ñH¥${VH$ nûÀ¶m¶Z åhUOo H$m¶?

S>) gm‘m{OH$ ñVarH$aUmMr ì¶m»¶m H$am Am{U Ë¶mMo àH$ma ñnï> H$am.

B) {ddmhmÀ¶m {d{dY H$m¶mªMo dU©Z H$am.

’$) bmoH$emhr åhUOo H$m¶?

¶) àgma‘mÜ¶‘m§Ûmao Jmoim Ho$bobr {d{dY àH$maMr ‘m{hVr H$moUVr?

à.à.à.à.à.3) Imbrb gmV àíZm§n¡H$s H$moUVohr nmM àíZ gmoS>dm. [5×5=25]

A) {‘ëgMr g‘mOemór¶ H$ënZmeº$sMr g§H$ënZm ñnï> H$am.

~) g‘mOmÀ¶m d¡{eîQ>çm§Mr MMm© H$am.

H$) àmW{‘H$ g‘yhmMr d¡{eîQ>ço ñnï> H$am.

S>) g§ñH¥$VrMo àH$ma g{dñVa {bhm.

B) Hw$Qw>§~mÀ¶m {d{dY àH$mam§Mo dU©Z H$am.

’$) ^maVr¶ g‘mOmV ZmVog§~§Y H$m¶ ‘hÎd Amho?

¶) Y‘m©Mo Y‘©{ZanojrH$aU åhUOo H$m¶?

à.à.à.à.à.4) Imbrb XmoZn¡H$s H$moUVmhr EH$ àíZ gmoS>dm. [1×10=10]

A) g‘mOemómMo ñdê$n Am{U ì¶márMo dU©Z H$am.

~) {ddmhmMr ì¶m»¶m H$am Am{U {ddmhmÀ¶m {d{dY àH$mam§Mo dU©Z H$am.


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Q1) Write answers in one sentence (Any 10) [10]

i) What is Physical Geography?

ii) Which theory is proposed by William Morris Davis?

iii) Who proposed continental drift theory?

iv) How much percent of solar energy is reflected back to space?

v) What is air pressure?

vi) What is an abyssal plain?

vii) What is hydrological cycle?

viii) Name any two branches of Human Geography.

ix) Who wrote the book “Anthropogeography”?

x) Name any two physical factor affecting population distribution.

xi) Name the states of India having highest urban density.

xii) Write any two factors affecting agricultural activity.

P.T.O.
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Q2) Write a short note in 50 words (Any 5) [25]

a) Hydrosphere

b) Temperature increase in the stratosphere

c) Submarine ridges

d) Scope of Human Geography

e) Sex-ratio

f) Significance of Literacy

g) Plantation agriculture

Q3) Write the answers in 50 words (Any 5) [25]

a) What is Lithosphere?

b) Write a note on rivers youth, mature and old stage.

c) Write a note on the Inter-Tropical convergence zone.

d) Write in detail the formation process and types of tides.

e) State the significance of study of Human geography in modern period.

f) How social factors affect the population distribution?

g) Describe the physical factors affecting on Indian agriculture.

Q4) Write the answer in 150 words (Any one) [10]

a) Discuss the detailed vertical structure of the atmosphere on the basis of
temperature changes.

b) Explain the characteristics and pattern of rural settlements in India.


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F.Y. B.A.

GEOGRAPHY
124 : Physical and Human Geography

(2019 Pattern)
(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.
3) Amdí¶H$ {VWo gw~H$ AmH¥$Ë¶m H$mT>m.
4) ZH$mem ñQ>opÝgb dmnaÊ¶mg nadmZJr Amho.
5) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

PA-4749

à.à.à.à.à.1) EH$m dm³¶mV CÎmao {bhm. (H$moUVohr Xhm) [10]

i) àmH¥${VH$ ŷJmob åhUOo H$m¶?

ii) {dë¶‘ ‘mo[ag S>opìhg ¶mZo H$moUVm {gÕm§V ‘m§S>bm?

iii) I§S>dhZ {gÕm§V H$moUr ‘m§S>bm?

iv) {H$Vr Q> o̧$ gm¡a COm© AdH$memV namd{V©V hmoVo?

v) hdoMm Xm~ åhUOo H$m¶?

vi) AJmY ‘¡XmZ åhUOo H$m¶?

vii) ObMH«$ åhUOo H$m¶?

viii) ‘mZdr ŷJmobmÀ¶m H$moUË¶mhr XmoZ emIm§Mr Zmdo {bhm.

ix) ""AÝW«monmo{OAmoJ«m’$s'' hm J«§W H$moUr {b{hbm?

x) bmoH$g§»¶m {dVaUmda n[aUm‘ H$aUmao H$moUVohr XmoZ àmH¥${VH$ KQ>H$ gm§Jm.

xi) ^maVmVrb gdm©{YH$ ehar KZVm Agboë¶m amÁ¶mMr Zmdo gm§Jm.

xii) H¥$fr H$m¶m©da n[aUm‘ H$aUmao H$moUVohr XmoZ KQ>H$ {bhm.
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à.à.à.à.à.2) àË¶oH$s 50 eãXm§V {Q>nm {bhm. (H$moUVohr nmM) [25]

A) ObmdaU

~) pñWVm§~am‘Yrb Vmn‘mZ dmT>

H$) ‘hmgmJar¶ nd©Vam§Jm/H$Q>H$

S>) ‘mZdr ŷJmobmMr ì¶már

B) qbJ-JwUmoÎma

’$) gmjaVoMo ‘hÎd

¶) ‘ù¶mMr eoVr

à.à.à.à.à.3) Imbrb àíZm§Mr 50 eãXm§V CÎmao {bhm. (H$moUVohr nmM) [25]

A) {ebmdaU åhUOo H$m¶?

~) ZXrMr ¶wdmdñWm nm¡T>mdñWm d d¥ÕmdñWm ¶mda Q>rn {bhm.

H$) Am§Va-CîUH${Q>~§{Y¶ A{^gaU joÌ ¶m {df¶mda {Q>n {bhm.

S>) ^aVr-AmohmoQ>rÀ¶m {Z{‘©VrMr à{H«$¶m Am{U Ë¶mMo àH$ma g{dñVa {bhm.

B) AmYw{ZH$ H$mimVrb ‘mZdr ŷJmobmÀ¶m Aä¶mgmMo ‘hÎd ñnï> H$am.

’$) gm‘m{OH$ KQ>H$m§Mm bmoH$g§»¶m {dVaUmda H$gm n[aUm‘ hmoVmo?

¶) ^maVr¶ eoVrda n[aUm‘ H$aUmè¶m àmH¥${VH$ KQ>H$m§Mr g{dñVa ‘m{hVr {bhm.

à.à.à.à.à.4) Imbrb àíZm§Mo CÎma 150 eãXm§V {bhm. (H$moUVohr EH$) [10]

A) Vmn‘mZ ~XbmÀ¶m AmYmao dmVmdaUmÀ¶m Cä¶m g§aMZoMr/aMZoMr Vnerbdma MMm© H$am.

~) ^maVmVrb J«m‘rU dgmhVtMr d¡{eï>²¶o Am{U àmê$n ñnï> H$am.


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